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I INTRODUCTION

This paper deals with an attempt to measure the economic contribution
which the Irish airlines (Aer Ligus and Aer Linte) make to the economy,
and 1s based on a report prepared for the company in 1968 *

A conventional answer to this question would be to calculate the net
output (or value added) of the firm since this would be 1ts contribution to
the measured GNP Employee remuneration and profits are the major
constituents of net output, and 1t 1s profits which, in turn, are the normal
basis for deciding whether the particular output obtamed represents the
best, or an adequate, use of the resources employed by the firm The reason
for this 1s because all the firm’s earnings, other than profits, are matched
by payments for items which have (potential) alternative uses, leaving
profits as the element of surplus The prices which are paid for the firm’s
purchases of labour, materials, or other resource would be taken as an
adequate measure of the alternative output which these resources could
produce elsewhere, since the same prices would apply to other firms In
the case of profits, on the other hand, there 1s no reason for expecting the
same profit level to prevail in all firms, and the highest profit rate 1s
deemed to constitute the best economic use of resources This commercial
assessment of the size and relative worth of any one project’s economic
contribution 1s 1n practice sometimes supplemented by more wide-ranging
estimates Such estimates are usually referred to as cost/benefit calculations,
and seek to take account of the unpriced or mnadequately priced activities
arising from the firm’s operations Where relevant, the results of such cost/
benefit estimates can be presented 1n the form of a “social” rate of return,
1n contrast to the “private’ returas denoted by commercial profits

The information needed for a cost/benefit calculation 1s analogous to
that required for a commercial evaluation, 1n that 1t 1s necessary to identify
the gross contribution, and then deduct from this, the opportunity cost
(value 1n alternative uses) of the resources nvolved, in order to arrive at
the net social returns from the project The first step, calculating the gross
return, calls for the identification, and financial valuation of any ““outputs”
or “services” supplied by the “projects” (or firm) which are not adequately
(if at all) reflected 1n the revenues from 1ts sales The second step, estimat-
ing the opportunity cost of the project’s activities 1s much more complex,
since 1t calls for some specification of the situation which might exist in
the absence of the project Since this alternative 1s a purely hypothetical
situation, 1t follows that (a) there can be a larger number of alternatives,

*The Report was prepared by the Economusts’ Advisory Group, London, and by the
author Professors Peacock and Wiseman acted as joint directors of the project Professor
Morgan was the other E A G member actively involved m the study



156

and (b) no direct empirical measurement of the chosen alternative(s) is
possible To some, this necessity to specify a hypothetical alternative to
the actual situation 1s an overwhelming objection to the cost/benefit
approach, but the same problem confronts any investor, who must always
compare whatever 1s expected to happen if a project 1s undertaken with the
position that would exist if he rejects 1t Once a decision 1s taken, the
rejected option enters the realm of ‘“‘what might have been” and 1s not
susceptible to empirical measurement But if the problem of formulating
hypothetical alternative(s) 1s no different in kind with cost/benefit than
with other investment decisions, 1t 1s at the same time one which 1s different
mn degree, and one which gives rise to difficulties of both specification and
quantification The solutions adopted for these problems in the case of the
arrhines will emerge later Here it may be noted that frequently, the practice
1s not to attempt to go through the full sequence of first measuring the
gross contribution of a project, and then as a second step subtracting its
estimated opportunity costs as inferred from some alternative hypothetical
position, but rather to specify and measure the changes which take place
between the two positions This practice has been followed 1n the present
paper

Having warned about the need for judgments and estimates, 1t 1s also
relevant to refer briefly to the statistical material and to the numerical
estimates presented in the paper Since the study was prepared in a limited
time-period 1t was necessary to rely on readily available statistical material
This, allied to the necessity for estimates, frequently of a rather crude,
nature, means that no great degree of accuracy can be expected of any one
figure, and no particular emphasis should be attached to them The
primary mtention throughout has been to identify, and indicate the possible
magnitude of the various elements 1n the calculation Numerical values are
used both for this latter purpose, and to facilitate the exposition rather than
to suggest precise results The calculations presented refer to the financial
year 1966/67, which was the most recent year for which data were available
at the time of the study

The sequence 1n which the estimates are developed 1s first in section 11,
the commercial accounts and some subsidiary data are summarised These
commercial results serve as the point of departure for sections III and IV
The first of these sets out the nature of the “‘corrections’ to be made to the
commercial accounts, while the second presents the relevant estimates
Section V offers some brief general conclusions, together with some related
comments on the exercise

II. COMMERCIAL AND RELATED DATA

The revenue and expenditure of Aer Lingus for 1966/67 1s summarised
1 Table 1 Tt 1s of some importance to the later discussion to distinguish
domestic from foreign transactions, Table 1 therefore summarises this
information for the major areas
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TaBLE 1

REVENUE AND EXPENDITURE OF AER LINGUS BY
GEOGRAPHICAL AREAS 1966/67 (£000)

Great North

Revenue Total Ireland Britain America Other
Passenger 16,657 4,687 4,351 6,771 848
Cargo 2,191 900 603 595 93
Mail 307 235 38 27 7
Other 2,434 942 483 966 43
Total 21,589 6,764 5,475 8,359 991
Expenditure
Payroll 6,772 5,234 544 870 124
Fuel and O1l 1,555 752 224 428 151
Landing Fees 1,283 636 439 130 78
Training Expenses 253 178 22 22 31
Mamtenance (materials 683 20 209 454 —
Engine Overhaul etc 821 — 410 97 314
Handling charges at

outstations 1,025 323 340 252 110
Passenger food 546 297 16 206 27
Agents Commission 1,184 256 225 521 72
Advertising etc 792 104 203 410 75
Aurcraft hire 500 420 80 — —
Other 3,212 2,023 277 828 84
Total allocated 18,626 10,243 3,099 4,218 1,066
Depreciation 1,858
Total expenditure 20,484

The difference between revenue and expenditure of £1 1 million con-
stituted the operating profit, the figure for net profit was shown as £0 9
million, representing a rate of return of approximately 4 per cent on the
net assets employed of £24 millions

It will be seen that 69 per cent of total revenue came from export sales,
the major source of such earnings being North America which contributed
almost 40 per cent of total revenue On the expenditure side, 45 per cent of
allocated spending went on external items so that there was a significant
net surplus on foreign transactions which served to finance the larger
volume of domestic payments The actual size of the external payments
depends on how the residual items between total revenue and allocated
expenditure are apportioned geographically For later convenience 1t may
be useful to spell out the actual apportionment used here, and this 1s done
m Table 2
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TABLE 2

ESTIMATION OF AER LINGUS NET PAYMENTS BY AREA (1966/67)

(fm)
Total Ireland Foreign
Total Revenue £21 6m £6 8m £14 8m
Expenditure
Allocated 1n Table 1 186 102 84
Depreciation
Flight 15 — 15
Other 03 02 01
Operatmmg Profit 12 12 —
Total Expenditure 216 116 100

There was thus on balance an estimated net inflow of £4 § millions 1n
foreign exchange from airline operations in that year

An mdication of the value added by Aer Lingus, which as indicated in
the opening section 1s the measure of contribution to the economy for
national accounts purpose, can also be derived from the expenditure data
This can be done by approximating to the national accounts measure of
“net product” This net product 18 taken as the total wages and salaries
payments, plus the trading profits of a firm It 1s thus the remainder after
all payments for materials and services, including depreciation (which 1s
taken as the cost of the capital equipment employed) The sum of these
net products for all enterprises and employing units represents the national
income The net product of Aer Lingus 1s taken as being its total payroll
within Ireland plus its operating profits Table 3 shows this calculation
together with data for selected sectors To facilitate comparison the net
product per employee is also shown

TABLE 3

NET PRODUCT, AGGREGATE AND PER EMPLOYEE SELECTED
SECTORS, 1966

Total (Em) | per worker (£)

Aer Lingus 65 1,670
All Distribution and Transport 143 690
Industry 265 910
Net National Product 836 785

It will be seen that the net product per employee in Aer Lingus 1s
significantly above the average in the other sectors shown This means for




159

example, that i 1966, Aer Lingus although 1t employed less than 0 4 per
cent of the total labour force, contributed O 8 per cent of the national
mcome

Finally, the total and skill composition of the Aer Lingus labour force
which 1s of some relevance to the later discussion may be noted The latest
available data on a comparable basis are those given in the 1961 Census of
Population Some of this data is presented in Table 4 (a) and (b)

The occupational categories are too broad to give more than a general
picture, but nonetheless they show some important differences between the
skill structure of the Aer Lingus work and that for the economy as a
whole In particular, there 1s a greater proportion of male employees in
the categories of ““salaried employees” (which includes airline pilots along
with senior managerial staff) and “mtermediate non-manual” (which
contamns the main body of admunistrative and clerical workers) Such
differences are relevant to the question of alternative employment opper-
tunities which will arise in Section TV

I MODIFICATION OF THE FINANCIAL DATA THE NATURE OF THE
PROBLEM

Our concern 1s with the contribution of Aer Lingus to the Irish economy
That contribution 1s partly direct this we have already dealt with It may
also be indirect 1n that Aer Lingus’s activities confer benefits or impose
costs upon the community other than those which show up i the ““com-
mercial” accounts We must try to wdentify these costs, in order sub-
sequently to quantify them Also, 1t 1s necessary to assess the extent to
which these “indirect” effects are due to the existence of Aer Lingus, in the
sense that they would disappear, or change in magnitude, were Aer Lingus
to be withdrawn In this section, are set out what are believed to be the
relevant body of indirect influences, together with an explanation of the
alternative situation m which 1t 1s proposed to evaluate them The latter
task has already been outlined, but the explanation may be repeated at
risk of tedium, if the reader 1s to understand what has and what has not
been done Attention 1s also drawn to the special conditions of the Irish
cconomy that are relevant to this problem

We need to consider indirect effects of Aer Lingus’s operations because
the measurements derived from financial data only provide a fully accurate
measurement of the economuc costs and benefits associated with the
enterprise 1n question when various conditions are fulfilled When these
are not met 1n full, economic effects may either appear in the financial
accounts at values which diverge from their economic worth, or they may be
excluded from the accounts altogether

The first step, then, 1s to identify possible causes of divergence of the
kind described The procedure adopted was to examine the pattern of
Aer Ligus’s activities, and to list those which may produce significant
items This list was then checked against the various discussions of airlines
problems 1n the professional literature Fially, comments were obtained




TABLE 4a

MALES AT WORK CLASSIFIED BY SOCIAL GROUPS 1961

(% DISTRIBUTION)

Inter-
mediate Other Seni- Un-
Higher Lower |Employers non- non- Skilled skilled skilled
Profes- Profes- and Salaried manual manual Manual Manual Manual
Total sional sional Managers | Employees| Workers | Workers | Workers | Workers { Workers { Unknown
Air
Transport
Number 1,781 36 10 65 208 568 336 227 62 269 —
179
A— Al
% 100 20 6 36 117 319 189 127 35 151 —
Transport
Com-
munication
and
Storage 281 62 667 1,834 5,935 21,894 7,025 6,181 3,367 32
Number 47,278 60
A
% 100 | 6 1 14 39 | 126 463 149 131 71 -
All non-
Agricul-
cultural
Employees
Number 428,250 21,437 14,790 22,283 14,080 86,633 60,717 110,174 47,775 50,034 327
170
A At
% 100 50 35 52 33 202 142 257 111 117 1

091




TaABLE 4b

FEMALES AT WORK CLASSIFIED BY SOCIAL GROUPS, 1961

Inter-
4 mediate Other Semi- Un-
Higher Lower |Employers non- non- Skilled skilled skilled
Profes- Profes- and Salaried manual manual Manual Manual Manual
Total sional sional Managers | Employees| Workers | Workers | Workers | Workers | Workers | Unknown
Air
Transport
Number 773 — 3 — 1 497 220 2 50 — e
A 100 —_ 4 — 1 64 3 285 5 635 — —
Transport
Com-
munication
and
Storage
Number 6,880 3 9 137 22 4,599 1,732 5 348 24 1
% 100 — 1 20 3 66 9 252 1 51 3 -—
All non-
Agricul-
tural
Employees
Number 235,744 14,306 26,164 4,463 294 82,568 51,302 17,618 38,355 537 137
% 100 61 111 19 1 350 217 75 16 3 2 1

191

Source Census of Population, 1961
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from people familiar with airline activities On this basis the following list
of items emerged
(a) Tourism[trade Any effects which the presence of Aer Lingus has on
the level of activity in these sectors, that are not reflected mn trans-
actions with the company 1tself
(b) Trommmg The extent to which Aer Lingus benefits from tramming
courses provided elsewhere, the extent to which tramning provided
by 1t benefits other sectors
(c) Defence The extent to which the presence of skilled personnel and
equipment constitute a second-line group of value 1 an emergency
(d) Nowe The adverse effects which aircraft noise may have on com-
munities 1n the neighbourhood of airlines/airports
(e) Safety The degree of safety of travel by Aer Lingus in relation to all
other forms of travel for the journeys concerned
(f) Regional pattern If Aer Lingus has a different regional distribution
of 1ts domestic spending to alternative enterprises, the extent to
which regional shifts constitute gain or loss
(g) Foreign earmings Whether and to what extent foreign exchange
earnings should be valued differently from the official exchange rates
(h) Secondary effects If the alternative uses of Aer Lingus’s resources
entailed some fall in net product, the extent to which this fall would
generate induced (or multiplier) reductions 1n net product elsewhere
m the economy
Having ident:fied the possibilities (and the list 1s not necessarily exhaus-
tive), 1t 1s necessary to quantify the benefits and costs associated with them
This raises three questions to which answers must be given what kind of
alternative situation 1s to be considered, what kind of valuations are
needed, and what characteristics of the Irish economy are of importance ?
We shall consider these 1n turn
The difficulties of specifying an alternative situation have been referred
to already Given that the concern here 1s not with the profitability of
individual routes, the simplest case has been taken namely, that in the
absence of Aer Lingus the traffic now operated by them would be available
for operation by overseas airlines It 1s not suggested that this 1s the most
realistic alternative 1t 1s simply a means of providing a “benchmark”
Further, this assumption of “10C per cent operation” does not imply that,
even if we start from the proposition that all Aer Lingus’s present services
are justifiable by commercial criteria, overseas airlines would choose to
operate the same routes m the same fashion Tndeed, 1t will be contended
that even on the basis of “100 per cent operation”, foreign-based airlines
would select a different pattern of operations (A simple practical possi-
bility, e g would be reduced usage of Cork and Shannon) It will be
appreciated that, while the method adopted avoids consideration of
“unprofitable” routes (and perhaps loses realism m doing so), this type of
consideration could have been itroduced 1 a general way, for example
by assuming that overseas carriers operated at 95 per cent of Aer Lingus’s
present scale But this would be to render the exercise more complex, and
risk diverting attention from 1ts prime objective and m any case 1t would be
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more satisfactory were the exercise required, to undertake a direct study
of the likely scale of alternative operations by identifying and studyimng the
“non-commercial’’ traffic concerned

Having specified an alternative situation, the next step 1s to constder what
1t 1s that 1s to be measured Since our purpose 1s to identify the contribu-
tion of Aer Lingus to the economy, we need to see what difference 1s
created in the benefits and costs occurring under each of our specified heads
if Aer Lingus 1s replaced by the hypothetical new arrangement It follows
that we need not attempt to define or measure *“total” indirect denefit or
cost under the various heads If we can specify and quantify the difference
between the two situations, the figures so obtamed can be used to modify
the “commercial” data already provided, in order to provide a more
reahistic evaluation of the community return on Aer Lingus capital

But there 1s another qualification to be made If, directly or indirectly,
the withdrawal of Aer Lingus causes a reduction n the use of resources in
particular sectors of the economy (e g 1f there 1s a reduction 1n the demand
for some types of airline labour), 1t cannot be assumed that these resources
will not find other productive uses That 1s, we need to distinguish between
the “gross” change which results (effectively, the reduction in output
because resources are displaced), and the “net” change, (which sets off
against the gross change an evaluation of the contribution of the displaced
resources in alternative employments) [t 1s clearly the latter that 1s of
interest as a measure of Aer Lingus’s contribution

This brings us to our third question, which concerns the character of the
Irish economy In a fully-employed and competitive economy in which
resources (capital and labour) are reasonably free to move between uses,
the displacement of such resources in one sector should lead to their
employment elsewhere at rates only marginally below their present earnings
In such circumstances, there may be short-term costs of movement
imposed on the community, but the continuing ““loss of output” can only
be small, because the contribution of the resources m their new uses
largely offsets their contribution in the earlier one But these happy con-
ditions are not met with in the present case First, some of the resources are
spectfic to their present uses (1n the sense ¢ g of possessing labour skills
relevant only to the arrline industry) such resources, at best, would be
employed elsewhere 1n less productive uses Second, the postulated condi-
tions of competition do not prevail Leaving aside the general policies of
itervention by government, it is clear (e g ) that the government does not
see market forces as the only relevant determinant of foreign exchange
earmings Perhaps most important, the necessary condition of full employ-
ment 1s not fulfilled The available evidence, which 1t would be pointless to
enunciate at length, shows the Irish economy to be affected by a chronic
under-employment of labour, which government policies are concerned to
correct Further, the unemployment 1s not of a simple “cychical” type,
capable of correction by simple mjections of purchasing power It 1s
rather a problem of excess labour supply of a type not uncommon e g 1n
the less developed countries of the world This 1s a larger matter, and one
which will not be pursued Tts relevance here 1s that any resources displaced
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by the withdrawal of Aer Lingus cannot be expected to find high-output
alternative employments they are also likely to remain unemployed, to
accept market reductions m earnings (1 e output), or to emigrate

Finally, attention must be drawn to the practical problems of valuation
The estimates themselves are necessarily mndirect and need to be treated
with caution The procedures used for individual calculations are set out 1n
Part IV, and we would hope are sufficiently clear in each case Some
illustrative comment on the general nature of the problems may be useful
here Tourism serves to illustrate the dangers of double-countng Suppose
we could discover the “loss” in tourists that would result from Aer Lingus
bemng withdrawn It 1s tempting to value the total contribution of these
tourists to hotel, shop, etc trade as parts of the “benefit” conferred by
Aer Lingus and now lost But this would be double-counting We might
get the same result by withdrawing the shops, hotels, etc instead of Aer
Lingus' We must find ways to limit outselves to Aer Lingus’s own con-
tribution

Another problem 1s illustrated by the displacement of manpower
Suppose, as a result of Aer Lingus being withdrawn, some educated man-
power would emigrate If we ignore the emigrant, our task is to assess
whether the rest of the community will be better or worse off (1e have a
higher or lower output per head) m consequence The problem (which has
appeared m other contexts as the “brain drain’’) needs only to be stated
for 1ts complexity to be apparent Educated manpower consumes as well as
produces, pays taxes and receives unrequited government benefits, might
make remittances from abroad, and so on Much could be written on this
and similar problems But given the nature of the task, and the magnitude
of the effects i question, we have felt justified 1n using arbitrary methods
and giving summary explanations Moreover, given the costs of acquiring
information, the question of where to cut off research of this kind must
always be faced

IV AN ESTIMATE OF AER LINGUS’S CONTRIBUTION TO THE
ECONOMY

In this section the hypothetical alternative outlined 1n the preceding
paragraphs 1s first considered, and the pattern of costs and benefits
associated with 1t 1s esttimated The changes which these would represent
from the present pattern can then be taken as an estimate of Aer Lingus’s
contribution to the economy The estumates are made in two stages, first
the calculation of the financial accounts for the alternative position, and
secondly, the estimation of the changes in the indirect costs and benefits
set out 1n Section 111

The alternative financial accounts can be crudely estimated by using a
number of simple assumptions First the revenue side Of the total revenue
of £21 6 m 1n 1966/67, some £6 8 m came from domestic sources, the
other £14 8 from external sales (Table 1) Under our alternative hypothesis,
external revenue would accrue to operators outside Ireland, and so does
not concern us here Revenue from domestic sales would depend upon
services provided Tt 1s assumed that these would be substantially, even 1f
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not precisely, the same as those actually provided by Aer Lingus, and
therefore the domestic revenue earned by alternative carriers 1s put at the
figure of £6 8 m actually earned by Aer Lingus

Next the expenditure side Following the same format as i the published
accounts each of the main items may be examined in turn using the 1966/67
data given n Section II above

The question 1s how the allocation of expenditure as between Ireland
and elsewhere would alter with external carriers Aircraft hire can be
ignored as an occasional item Fuel and o1l, landing fees, maintenance
(materials), engine overhaul, and agents’ commuissions are all assumed to
be divided between home and overseas in the same way as shown in Table 1
that 1s they are taken to be independent of the location of the airline
company

The figures for passenger food suggest some scope for using more supplies
from the home base If this held for other carriers too the proportions
shown in Table 1 may be assumed to be reversed (1 ¢ domestic expenditure
would become 46 per cent, and external 54 per cent)

Advertising 18 a more problematic item The existing A LT budget
contains efforts at selling Insh holidays to foreign tourists Foreign
carriers would undoubtedly make some efforts to sell space on flights to
Ireland, the question i1s whether they would make the same relative efforts
For the present purpose, advertising outside Ireland can be 1gnored, since
1t would be paid to foreign firms Advertising within Treland 15 assumed to
be unchanged, at approximately £100,000 a year

Handling charges at outstations refer to items not supplied from within
the firm The lower domestic per cent 1s assumed to be due 1n part to some
services being available within Ireland from the company With external
carriers it 1s assumed the domestic element would rise, to say 50 per cent

Thus disposes of items purchased from other firms The remaining items
(tramning, payroll and other costs) are largely internal to the airline

The payroll total of £6 8 mullion required more detailed treatment The
overseas component can be assumed to remain so, leaving the domestic
payroll of £5 2 million as the area for examimation A breakdown of staff
numbers and costs 1nto each of the major functional areas, namely, operat-
g, sales/marketing, maimtenance/overhaul, training and administration,
was obtained It was assumed that all training and maintenance activities
would be located at overseas centres, so that domestic employment would
become zero A sales and marketing force would continue to be needed,
but 1t was arbitarily assumed that this would be only two-thirds of the
existing numbers, because of the fact that many external airlines already
have some sales forces in Ireland For the remaining categories of opera-
tions and admunistration the expectation would be that these would also
become predominantly externally located It was assumed that the pro-
portion of domestic to overseas spending on these items shown for Aer
Lingus, would be reversed from 85 per cent domestic/15 per cent external,
to 15 percent domestic/85 per cent external, The effects of these assump-
tions would be to produce a total domestic payroll of just over £1 million
and a work force of 680 people
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The remaining current item 1s “other costs” of £3 2 million approxi-
mately In the the absence of data this was assumed to be divided equally
between home and overseas expenditure

Depreciation 1s not subdivided 1n Table 1 Of the total of £1 8 mullion
m 1966/67, £1 5 million was aircraft etc and this 1s taken as all external
The remainder, ground equipment, premises, etc 1s assumed to be divided
equally between domestic and external

Summing these estimates, the total domestic expenditure which would
have accrued (on our alternative hypothesis) from externally-based airlines
having the same over-all expenditure (£20 48 million) as Aer Lingus had n
1966/67 can be derived This 1s shown in Table 5

TABLE 5

ESTIMATES OF DOMESTIC SPENDING
WITH EXTERNAL CARRIERS £'000

Fuel 750
Fees 640
Outstations (handling 510
Food 250
Commuission 260
Advertising 100
Payroll 1,040
Other 1,600
Total 5,150

The net result of these estimates 1s to suggest that with external carriers
for the same traffic patterns, direct spending in Ireland would fall from
£10 2 mullion to £5 2 million In addition it 1s assumed, as seems reasonable,
that profits are also transferred abroad One consequence of this expendi-
ture switch, 1s that mstead of a net intake of foreign exchange of about
£4 8 mullion (Table 2 above) there would be a net payment abroad of £1 6
million (Domestic revenue £6 8, spending £5 2) Associated with this
expenditure change would be a direct fall in employment of approxmmately
3,200 (3,868—680) The reduction in the net product (1¢ the contribution
to Irish national income) of the air transport mdustry would be £5 4
million, the difference between the £6 5 million shown in Table 3 and the
£1 04 muliton of payroll which 1s the only component of net product 1n
Table 5

These reductions 1n foreign exchange earnings, employment and net
product are all gross reductions That 1s, they are the immediate or impact
effects of the assumption of a change to external carriers The net reduc-
tions would depend on the alternative uses ot which the resources released
from Aer Lingus would be put This aspect will be discussed later in the
section

The next stage 1s to estimate the changes in the various indirect items
which would result from this assumption of changing to external carriers
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Tourism and trade In the case of tourism the suggestion 1s that Aer
Lingus not only sells airline seats m the normal manner but also sells
holidays n Ireland All sectors engaged m tourist transactions therefore
experience some economic benefit which 1s not reflected in Aer Lingus’s
accounts As already indicated the object here 1s not to attempt any measure-
ment of the total size of such benefits, but to estimate whether there would
be any change in thetr size resulting from changes in the pattern of airline
operation In this case the basic question 1s whether the same number of
tourists would visit Ireland, that 1s whether the assumption made earlier
that all existing traffc would be available to alternative carrrers, 1s valid

First then it 1s necessary to establish whether there 1s pruma facie
evidence that Aer Lingus does positively influence the tourist inflow to
Ireland The rising numbers of tourists 1n recent years are not in themselves
any evidence of this What may, however, be taken as a possible indicator
1s that there has been a faster rate of growth in the number of U S wisitors
to [reland than i therr numbers to other European countries This above
average growth could be the result of many possible mmfluences — one might
be that, since Ireland 1s nearer than other European areas, the costs of travel
to Ireland are slightly lower However, it seems reasonable, 1n the absence
of any detailed analyses of the tourist pattern, to accept that Aer Lingus
may have been a contributory factor A supporting piece of circumstantial
evidence for this claim would be that the faster growth rates have been
associated with regions in the U S to which Aer Lingus operates services
People in these areas could have travelled by alternative routes and carriers
prior to the introduction of Aer Lingus services, the provision of an Aer
Lingus service was apparently associated with above average increases m
traffic These data must of course be treated with care, since 1t 1s not certain
that 1t 1s the provision of services by specific carners as distinct from pro-
viston of specific services which stimulates traffic

For our present purposes here, it may be assumed that there 1s some
substance 1n the claim that Aer Lingus services plus publicity boost the
tourist flow The question 1s then to decide what proportion of this traffic
would be lost if alternative carriers were operating In 1955/6, Ireland
recetved 3 59 per cent of all U S wisitors to Europe, by 1966, this propor-
thion had risen to 4 83 per cent We make the arbitary assumption that
half of this increase 1s directly attribuatble to the activities of Aer Lingus,
and would be lost 1f similar services were operated by external carriers
This would have amounted to abour 13,500 visitors in 1966

On the basis of the estimated expenditure by tourists i 1966 given by the
Central Statistics Office, average spending, other than travel, was £73 per
overseas visitor Applying these to the numbers of U S vourists in the
preceding paragraph gives a total of £985,000 as theur spending 1n Ireland

This estimate does not 1n 1tself provide a measure of their economic
value to the economy, since among other things, there would probably be
some 1mport content in their spending to be offset against this total The
conventional measure of the economic contribution of these tourists 1s the
addition to net product which they create For the three sectors listed in
the 1960 Input/Output table which would be most affected by tourist spend-
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g (Hotels, Trade and Transport and Recreation and Entertamnment) the
net product was of the order of 66 per cent of sales (total output) This
percentage applied to the total spending figures of £985,000 for the margmal
tourist would 1mply a loss of £650,000 in net product

The question would then arise of whether 1t was worth spending some
funds on offsetting publicity in order to avert this loss of net product To
answer this some estimate of the required scale of spending would be
needed A crude measure of such spending might be the differential level
of Aer Lingus spending abroad as compared with the domestic market
Thus 32 per cent of Aer Lingus revenue comes from domestic sources, but
advertising etc spendmng as listed in 1able 1 was only 13 per cent of the
total (104,000 out of £792,000) If the ratio of advertising to sales had been
the same 1n overseas markets as at home, overseas advertising by Aer
Lingus 1n 19€6/67 would have been £210,0C0 The difference between this
and the actual overseas spending of £688,000, amounting to £478,000, may
be taken as a crude measure of the publicity campaign which might need
to be mounted by the Irish economy if air transport was 1n the hands of
external carriers who would not themselves spend on this scale

If this type of campaign were to be financed from the public sector either
wholly or 1n part, the above estimate would be of some relevance If how-
ever 1t were to be left to the private sectors concerned they might not
undertake such a programme From the viewpomnt of firms, advertising
would reduce their profits as compared with the present, hence their
maximum additional spending on advertising would be the icremental
profits which they would hope to obtain from these margmal tourists
Agam usmg the same Input/Output table, the average profit element in
total output for the three sectors used was about 25 per cent ,so that the
profit element 1n the tourist spending outhined above was £250,000 approxi-
mately This may be taken as one other possible measure of the economic
loss to the rest of the tourist sector which would result from the abolition
of Aer Lingus It 1s possible to envisage imtermediate positions also, where
some advertising was used which retained some of the tourists ““at risk’,
this need not be pursued here If there were a fall in tourist numbers, this
would also affect airline revenue and operations, but since the fall 1s
external, these complications are ignored here

A similar type of analysis would apply to trade — whether in goods or
services, and to travel associated with 1t The suggestion 1s that the presence
of Aer Lingus offices in various centres abroad provides an increased
awareness of, and eases the process of contact with, Irish products It 1s
more difficult to estimate the extent to which such a positive effect on
trade arises, because there are a larger number of factors at work in the
development of business contracts, and also because the assumptions made
for business behaviour may be somewhat different to those adopted for the
analysis of consumer spending It 1s more probable that in the trade area,
the provision of air services to Ireland 1s a necessary factor to be associated
with others, and that 1t 1s the total package of attractions which influences
the decision to trade One possible approach to the problem would be to
explore the time savings associated with Aer Lingus services to various
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overseas centres in relation to the services of alternative carriers If, for
example, a direct service from Dublin to Dusseldorf results in a time saving
compared with alternatives, this has the effect of lowering the total costs
assoctated with business transactions involving the movement of people by
air, and would be analogous to a fare reduction for such services

As an illustration of such calculations, the following crude estimate may
be used Assume that in the absence of Aer Lingus the alternative services
to European centres would entail changing planes en route (e g at London)
This would raise total journey time The time saved by the present services
may thus be measured It 1s then necessary to identify the number of
business travellers Since detailed statistics by nature of journey were not
available we will assume that the proportion of business journeys 1s the
same as that shown for air travellers between U K and Ireland m 1966
namely 20 per cent For the major routes in question the estimates are
shown in Table 6

TABLE 6

ESTIMATED SAVING OF BUSINESS TIME

1 2 3 4
Estimated
Total Business time saved Total
Passengers | Travellers Hours per | business time|
Route (’000) (=20%o0of 1) trip saved
(hours) ("000)
Dublin—Paris 236 47 2 94
Dublin—Brussels 30 6 2 12
Dublin—Dusseldorf 46 9 1 09
Dublin—Frankfurt 33 7 1% 10
Dublin—Zurich 39 8 13 12
Dublin—Rome 41 8 1 08
Dublin—Amsterdam 65 13 1 13
Cork—Paris 20 5 2 10
Total 16 8

Allowing for other routes 1t 1s not unreasonable to assume that total
savings of business time were 1n the region of 20,000 hours If these time
savings are valued at £1 per hour the sum involved would be £20,000 It
should be added that this 1s in general a conservative valuation since 1t
takes no account of journeys which would not be undertaken in the absence
of direct services

No attempt has been made to estimate the value of Aer Lingus offices etc
abroad, as a stimulus to trade This might more appropriately be conducted
n the context of studies of export promotion, by bodies such as Coras
Trachtala

Traiming There 1s a possibility that Aer Lingus receives some training
courses etc , at less than their cost, and conversely, that 1t provides training
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to some of 1its staff who may then leave to work elsewhere 1n the economy,
i which case Aer Lingus would provide trainmg to other sectors at less
than cost Examples of the first type would be any aeronautical engineering
courses provided by the Vocational Educational authorities, or pilots and
other personnel tramed by the defence forces, and on the reverse side, Aer
Lingus tramning courses for flight personnel, mstrument technicians etc
Data did not permit a direct calculation of whether or not Aer Lingus both
recetves and makes available benefits of this type

Defence The operations of Aer Lingus provide a nucleus of skilled
personnel and also perhaps equipment which are available for any defence
emergencies In their absence, therefore, defence spending might need to be
at a higher level in order to achieve the same degree of security The 1dea 1s
not so much that a larger air force group would be kept in permanent
being, but rather that a larger amount of traming for reserves would be
needed, and possibly also that options to use civil aircraft in emergencies
might have to be bought The suggestion 1s not that the Aer Lingus
group provide material for frontline forces, but that they are the potential
transport and supplies element 1n air defence Any valuation of this type
of benefit centres on policy decisions regarding defence We have naturally
not attempted to explore these

Noise Significant differences mn the volume of noise would be likely
only 1if external carriers (contrary to the assumptions so far made) adopted
a significantly different volume of services or pattern of routes Should
such changes n services occur, they would probably take the form of a
reduction m the number of flights to and from Cork and Shannon The
resulting decline 1n noise would be a benefit to residents 1n those areas,
but neither 1s densely populated We have not, therefore, attempted to
value this benefit here, though possible methods of valuation, which might
be used 1n a more comprehensive study ,are available

An 1llustration of the problems of valuation may be taken from London
Airport The Treasury makes grants of up to 50 per cent of the msulation
costs, or £100 whichever s the less, for houses 1n districts affected by air-
craft noise The £100 figure 1s the effective rate of grant since total costs
now exceed £200 per house

A second measure — the change 1n the capital value of a house — would on
theoretical grounds be expected to exceed msulation costs (for non-
nsulated houses of course') because mnsulation would not mitigate other
adverse effects, such as the reduced welfare of relaxation 1n the garden In
the London case, however, appeals to have the rateable valuation of
affected houses reduced, have all been unsuccessful, because 1t was shown
that the capital value of these houses had not apparently fallen The reason
for prices not falling was that there was a strong demand for adjacent
housing from people who worked at the airport' To move further away
would impose travel costs on these workers, so that the actual price paid
for these houses reflected some comparison between travel and noise costs

Safety Switching to alternative carriers could entail different safety
levels There are no data however which suggest significant differences 1
safety levels as between Aer Lingus and other major carriers Accordingly
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for this component of traffic the change 15 assumed to be zero If there
were a different pattern of services, e g fewer internal flights, leading to a
diversion of domestic traffic to other forms of transport, calculation would
also be needed for these other forms No attempt has been made here to
value this change n risk of accidents

Regionel Effects The discussion of changes in net product and employ-
ment arising from our assumed switch to external carriers did not make any
separate distinction of regional changes from overall changes However,
public policies, most notably the higher level of grants paid to new firms
establishing themselves 1n specified areas, indicate that the government
attach a specially high value to employment and output in these parts of
the country, It 1s important, therefore, that the specific reglonal pattern of
changes should be described, and 1f necessary valued

The overall reduction 1n employment associated with a switch to alterna-
tive carriers has already been shown The bulk of the fall would presumably
be in Dublin-based workers Some fall would also occur m provincial
employment For 1illustrative purposes, the arbitrary assumption 1s made
that the staff numbers needed for alternative carriers at Cork and Shannon
airports would be half of the existing levels (which were Cork 33, Shannon
217 for 1966/67) The higher value to be placed on employment in these
locations, may be illustrated by supposing that these would qualify for the
higher rates of industrial grants (this would not be correct 1n the case of
Cork city, but the numbers are not very large)

The difference 1n grant rates 1s 66% per cent for underdeveloped regions
and 50 per cent for the rest of the country The normal ceiling to grants 1s
£1,000 per worker employed The capital difference 1s thus £166 The annual
value of this difference depends on the interest rate employed — at 7 per cent
1t 15 1n the region of £12 Applying this to the reduction 1n regional employ-
ment of 125, gives an estimate of £1,500 as the additional annual value of
the loss 1n regional employment, associated with the switch

Foreign Exchange No distinction was drawn between domestic and
foreign receipts and payments m making the calculations based on com-
mercial accounts This assumes that the official exchange rate is a correct
measure of the opportunity cost of these transactions (1e of the value of
the foreign exchange earned by Aer Lingus to the Irish economy) Agan
m practice there are Government policies 1n existence which suggest that
foreign exchange 1s valued more highly than the official exchange rate
Among such policies are the exemption of export profits from mcome-tax
and profits-tax, subsidies on agricultural exports, marketing grants for
industrial firms, and the maintenance of an export-promotion body
(Coras Trachtala) These measures amount in effect to selective devalua-
tions of the Irish currency for the particular types of transactions affected
by them

Similar selective devaluations might also apply to Aer Lingus foreign
exchange earnings Tax relief on export earnings may serve as an illustra-
tion of this effect It would appear from the Input/Output table referred to
earhier, that profits were about 10 per cent of turnover With standard
mcome tax at 7/- 1n the pound, and a profits tax of 10 per cent, the normal
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tax liability on profits would be 1n the region of 40 per cent — or about 4
per cent of turnover The rebate on export earnings 1s based on their share
of turnover, not their actual contribution to profits, hence 4 per cent may be
used as the size of the concession For Aer Lingus, with foreign revenue of
£14 8 mullion 1 1966/67 this would be equal to £0 6 million It should be
noted that the concession to firms 1s based on gross export earnings, that
18, there 15 no offset of import content

For the case posited here of a switch to external carriers, 1t 1s the net
change 1n foreign exchange earnings which would be the more appropriate
aggregate to which to apply the correction from a national viewpoint This
change was shown above as £6 4 million (a surplus of £4 8 changing to a
deficit of £1 6 million) Applying 4 per cent to this would give £0 25 million
as the adjustment 1n respect of foreign earnings

Secondary Income Changes Finally it may be important to refer to more
general effects on the economy which may stem from any mmitial change in
net product The estimated fall m net product of £5 4 million would mean
that general purchasing power 1n the community would be reduced by this
amount This would tend to have a depressing effect on other sectors,
whose sales and hence output and employment, would be adversely affected
There would thus be associated secondary reductions m product and
employment, generally known as “multiplier effects”” There are recognised
procedures for estimating these multiple effects on incomes resulting from
any mmtial change In the Irish case, the data are not available in published
form for these relationships A crude estimation from the national income
data suggests however that the secondary, or induced reduction 1n income
would be about two-thirds of any initial reduction Thus for the imtial
fall of £5 4 mullion 1n Aer Lingus there would be subsequent falls totalling
£3 6 mullion approximately in other sectors

1t should be noted that this multiplier reduction does not include any
indirect effects of the replacement of Aer Lingus by external carrters If, for
example, this replacement led to a reduction 1n tourist spending and to a
loss of product 1n those sectors, such a loss should be added to the Aer
Lingus loss as part of the mitial total, to which the secondary, ncome-
related reduction in activity would apply Again however, 1t 1s not necessary
to explore the actual size of the mitial and secondary reductions 1n detail

Having now concluded a number of adjustments to the commercial
accounts, these can be brought together to summarise the total estimated
change for the economy as a whole, which would result from the switch to
external carriers This summary 1s presented 1n Table 7

What this table suggests 1s that the total loss of output and utility to the
community would be substantially greater than the direct loss of product
calculated from the Aer Lingus commercial data Thus 1s not, however, the
end of the calculation The above table represents the gross losses, and
estimates the reduced flow of output and satisfaction resulting from the
withdrawal of the resources concerned from theiwr present uses These
resources would, however, be available for alternative uses in the economy
To arrive at the net loss of output and satisfaction, 1t 1s necessary to make
one further set of estimates ,namely to estimate how much output can be




173

TABLE 7

ESTIMATE OF GROSS LOSS TO THE ECONOMY FROM ABOLITION
OF AER LINGUS (£'000)

Low Middle High

A Drrect £000 £000 £000

Loss of Net Product 5,400 5,400 5,400
B Adjustments

Tourism 250 478 540

Trade 20 20 20

Traning ? ? ?

Noise ? ? ?

Safety ? ? ?

Regional 2 2 2

Foreign Exchange 252 252 598
C Secondary

Induced Income Changes 3,600 3,600 4,000
Total Gross Loss 9,524 9,752 10,670

?=Not quantified

expected to be regamed by employmg the resources elsewhere The
difference between the gross loss and the alternative outputs obrained will
then be the net change resulting from the withdrawal of Aer Lingus, and
hence would be the measure of the net contribution which Aer Lingus was
making to the economy

The resources released by the withdrawal of Aer Lingus would be
both labour and capital In a full-employment economy these resources
would be reemployed elsewhere after a relatively short time-span, and
should supply almost the same level of net product in therr alternative
uses In the case of labour for example, the same wage rages should be
obtainable by the workers 1 alternative employments, and these rates
should reflect their contribution to output (Some reduction in wage rates
might occur for workers who had skills which were highly specific to Aer
Lingus, but this need not be pursued here ) Similarly, capital should have
alternative uses and would be demanded at the prevailing rate of mterest
A shght variation on this analysis would be to envisage the mflux of
resources released by Aer Lingus on to the market causing some marginal
reduction 1n both wage rates and interest rates, which reductions would
cause demand for these resources to expand, the process continuing until
full employment was reached

In this type of full employment situation then, the net product lost by
withdrawmg Aer Lingus would be largely, but presumably not quite
completely, replaced by alternative uses A simular argument could be
applied to the balance of payments The foreign exchange content 1 Aer
Lingus revenue 1s above the national average, hence the alternative outputs
would not be likely to have the same foreign earnings The net fall in these
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earnings would cause some margmal pressure on reserves, but in a freely
working system of international trade and payments, this could be corrected
by margnal adjustments 1n prices or exchange rates

For reasons stated earlier, this form of full-employment analysis does
not appear appropriate 1n Irish circumstances At no stage has the economy
been able to generate full-employment of labour, with the result that not
only are unemployment rates high, but net emigration has also been con-
siderable Nor 1s this situation expected to change in the foreseeable future
The NIEC report on Full Employment published in 1967, does not
appear to envisage full employment materialising before the 1980s If this
15 so then 1t 1s most improbable that all labour released by Aer Lingus would
be quickly absorbed A less implausible alternative would be to assume that
no alternative employment exists, and that none of the net product associa-
ted with labour would be reganed

Some form of mntermediate position 1s, of course, the most realistic To
the extent that Aer Lingus’s personnel possess skills which are scarce and
are in demand 1n other sectors they could obtain alternative employment,
and their addition to the total supply of labour n these categories would
have the effect of easing wage rates and expanding demand for such
services In other words, 1t 1s possible in conditions of general under-
employment, to have full employment conditions prevailing for some skill
categortes The usual procedure for dealing with this type of situation 1s
to attempt some type of ‘“‘shadow prices™ for the different categories, that
18, prices which reflect the opportunity costs of each group, rather than the
actual money wage rates

For illustrative purposes a number of rather crude estimates of the
alternative uses of Aer Lingus’s labour may be attempted Using the skll
breakdown given in Table 4 above, it seems reasonably plausible that
skilled, managerial and some professional employees among the males,
and secretarial staff among the females would obtain alternative employ-
ment The groups least likely to have other job opportunities are unskilied,
semi-skilled manual workers and lower grade clerical staffs Some of the
specialised professional and technical staff (pilots and engineers) might be
more hkely to emigrate rather than take less remunerative domestic
employment Broadly, this suggests about 20 per cent of employees with
good alternative prospects, about 50 per cent with poor ones, and about
30 per cent in intermediate positions Since the good prospect groups would
be above average in terms of earnings, 1t might be reasonable to think of
the payroll shares corresponding to these three groups as bemg 25 per
cent, 40 per cent and 35 per cent respectively Depending on how the
intermediate group are treated, estimates of the employment regained
elsewhere would range from a minimum of 25 per cent to a maximum of
60 per cent of the total payroll displaced from Aer Lingus This in money
terms would range from about £1 million to £2 34 million The treatment
of the capital released from Aer Lingus 1s more difficult in some respects
The capital employed was about £24 million i 1966/67 One way of
treating this amount s to say that if 1t became available to the public
sector, 1t would reduce the government’s net borrowing requirement by
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this amount, and would save 1t the mnterest payments on such borrowing
This saving would then be the measure of the annual value of the funds
released 1n alternative uses At a rate of 7 per cent 1t would amount to
£1 68 mullion

Again, however, the question of full employment arises It appears that
there has not been any shortage of capital for any commercially viable
project over recent decades, with the exception of a short pertod mn 1965/
66 If relatively easy conditions were to continue then a reduction n net
public sector borrowing would release potential funds for the private
sector, but these would remain unused The saving to the public sector
would then be cancelled out by the loss to the private sector lenders In
other words the alternative to employment of funds in Aer Lingus may be
their unemployment Agam, other intermediate positions could be envisag-
ed which need not be pursued

The valuations of alternative uses for capital and labour thus obtained
would give an estimate of the net product to be regamned and therefore
offset agamnst the gross losses outlned earher A complete calculation of
these alternative uses, and their valuation, would n principle need to do
more than assess the direct effects Once agam, 1t would be necessary to
record changes 1n the employment of labour and capital resulting from the
indirect effects discussed To do this mn full would be a task of immense
complexity, which cannot be attempted here To that extent the estimation
of the net loss of output associated wrth the withdrawal of Aer Lingus
must remain mcomplete

Rough estimates can, however, be made for two items, the foreign
exchange and secondary income effects If 1t 1s assumed that output gained
by the re-employment of resources would have an export content equal to
the national average of about one-third, the resulting foreign exchange can
be revalued m the same way as before, yielding the following results

Export sales 3319 of net product
Profit on exports at average rate of 109 349 of net product

Income tax and profits tax (409, of profits) 139 of net product

We should, therefore, add 14 per cent to our estimate of net output
regained for the foreign exchange adjustment

Output gained from the re-employment of 1dle resources creates addi-
tional spending and generates secondary increases in income, yust as out-
put lost has the opposite effect It was suggested that these secondary
effects were likely to be about two-thirds of the initial change which gave
rise to them An addition of this amount was made to the mitial loss of
net product shown in Table 7, and a similar addition 1s, therefore, made to
our estimates of output regamed These estimates would then read as
follows
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TABLE 8

ESTIMATE OF GROSS GAIN TO ECONOMY FROM ALTERNATIVE
USE OF AER LINGUS RESOURCES (£'000)

Low Middle High

A Durect

Labour 0 1,000 3,340

Capital 0 1,680 1,660

Net Product 0 2,680 4,000
B Adustments

Foreign Exchange 0 36 53

Other ? ? ?
C Secondary

Induced Income 0 1,800 2,700

Total Gross Gamn 0 4,516 6,753

?=Not Quantified

N

To derive the estimated contribution of Aer Lingus to the economy we
subtract the net product regained (Table 8) from the net product lost
(Table 7) Since each table gives three estimates, this process yields nine
alternatives which are, in ascending order of magnitude, as follows

Gross Loss Gross Gamn Net contribution
(Table 7) (Table 8) of Aer Lingus

£000 £000 £'000
1 9,524 6,753 2,771
2 9,752 6,753 2,999
3 10,670 6,753 3,917
4 9,524 4,516 5,008
5 9,752 4,516 5,236
6 10,670 4,516 6,154
7 9,524 — 9,524
8 9,752 — 9,752
9 10,670 — 10,670

The figures 1n the final column may be regarded as estimates of the
social, as distinct from the private, contribution of Aer Lingus within the
Iimiting assumptions we have set out Expressed as a proportion of its
capital of £24 million, they represent a rate of return ranging from 11 per
cent to 44 per cent If we disregard the three highest figures, which assume
no alternative employment opportunities, the range 1s still from 11 per cent
to 26 per cent This 1s very different from the 4 per cent rate of return
derived from ordinary commercial accounts
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V SUMMARY AND CONCLUSIONS

The emphasis 1 this study has been on demonstrating the nature of the
calculations necessary to arrive at the contribution which a firm such as
Aer Lingus makes to the economy as a whole The mam objective was to
iflustrate the limitations of normal commercial accounts for this purpose,
and to show the nature of the adjustments which must be made, to such
accounts m order to arrive at the correct economic assessment of a firm’s
impact on the economy

As a basis for any such calculations 1t 1s necessary to set up one or more
hypothetical alternatives with which to compare an existing situation
Simce the objective was to consider the contribution of Aer Lingus as a
whole, and not of particular services, one appropriate alternative assump-
tion was that Aer Lingus did not exist and that a substantially similar
range of services was suppled by external airlines

Numerical data were used wherever possible both to illustrate the nature
of the problems and to indicate the probable orders of magnitude mvolved
It must be emphasised, however, that the figures are subject to all the many
qualrfications described 1n the text

It 1s nevertheless clear that, given the present structure of the Irish
economy, there are many respects in which the financial accounts of Aer
Ligus understate its true contribututon to the national economy The
major benefits which do not appear in the accounts are as follows

1 Aer Lingus provides employment opportunities for people, some of
whom would otherwise either be unemployed or would have to work
mn less productive, and therefore less well paid jobs

2 The primary increase . incomes created by Aer Lingus provides
Additional spending and so generates further mcome through
“multiplier” effects

3 Aer Lingus operations earn foreign exchange which could other-
wise be earned only at a significantly greater cost in real resources,
than that indicated by official exchange rates

4 The operations of Aer Lingus and the advertising which goes with
them have sigmificant effects in encouraging tourism and promoting
trade

5 The existence of good air services enhances the attractiveness of
Ireland for industrial firms, especially those with headquarters over-
seas

The attempts to quantify these and other indirect benefits suggested that

the social rate of return on the capital employed by Aer Lingus was prob-
ably between 11 per cent and 26 per cent 1 1966/67 compared with the
return actually accruing to the firm, and shown 1n the accounts, of 4 per
cent These estimates are conservative in that they do not take full account
of the social benefits from commercially unprofitable routes

Rates of return such as 26 per cent may appear implausibly high to

many It must be emphasised however, that they result from using oppor-
tunity costs, as distinct from money costs, to value the resources used by
the firm Similar upward adjustments n rates of return could be expected
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to result for virtuaily all firms, if this cost basis were applied to them To
that extent, the calculations are in effect a way of showing the social value
of any firm 1n Insh circumstances It 1s also important to add that not all
of the estimated social benefits of Aer Lingus are of a general type applic
able to all firms Of the five categories summarised above, two are of this
general nature, but the other three are specific to Aer Lingus, so that they
enhance the social value of the firm by comparison with other firms which
do not produce specific benefits

These results make clear the limitations of taking investment decisions
relating to Aer Lingus as an entity solely on the basis of the type of costs
and revenues which appear in commercial accounts The present study 1s
not, of course, directly relevant to decisions concerning the amount of
mvestment 1n particular projects or the operation of particular routes, but
are complementary ,and indeed logically prior to, these specific questions,
since the latter presupposes the existence of the firm The techniques used
here can, of course, be applied to the analysis of particular mvestment
decisions or the operation of particular routes, but the assumptions made
and the calculations performed would have to be related to each specific
problem, and cannot be inferred from a general study of this type

DISCUSSION

Dr N Whelan 1think that Dr O’Donoghue’s paper 1s of great signific-
ance to the Irish public sector at present It s the first time in which, to my
knowledge, a cost-benefit evaluation has been published in relation to the
Irish public sector The cost-benefit methodology which has been formula-
ted will undoubtedly be of great help to those who may be contemplating
cost-benefit studies of other areas One of the most important features of
the study lies 1n the fact that 1t shows quite categorically how misleading
normal commercial accounts can be as an mdicator of the social returns
from public bodies

In connection with the paper itself there 1s very little one can say because
while Dr O’Donoghue had, of necessity, to make many assumptions
throughout, they have, m my opmion, been reasonable and are the best
available estimates I would like to refer however to the treatment of
certain aspects of the paper The first has to do with the basic hypothesis
made n the paper, 1 ¢, that in the absence of Aer Lingus the traffic now
operated by them would be available for operation by overseas airlines 1
wonder whether this “with” and “without” approach 1s realistic n the
case of the present study Surely the realistic alternative might not be the
provision by an overseas airline of all the work now undertaxen by Aer
Lingus Perhaps the Irish Shipping Companies would take some of this
I would have liked to have seen a more rigorous analysts of the situation
which might come about in the absence of Aer Lingus

The second feature has to do with certain of the benefits 1 feel that in
some of these 1t may not have been correct to attribute them i total to
Aer Lingus Take, for example, tourism Dr O’Donoghue says that
“mn 1955/56 Treland recerved 3 59 per cent of all U S visitors to Europe,
by 1966, this proportion had risen to 4 83 per cent We make the arbitrary
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assumption that half of this increase 1s directly attributable to the activities
of Aer Lingus T wonder whether this 1s not an overstatement since
the actual tourists attributable directly to Aer Lingus probably would not
have come 1f certain essential infrastructural features within the country
were absent For example, what would the tourists do if there was no
inland public transport service within the country ? I should imagime that
at least a high proportion of them would not visit Ireland and that Aer
Lingus 1tself would not be a sufficient force to entice them to come In this
case then should the tourist benefits (even the half of the tourist mncrease
attributable to Aer Lingus) not be divided 1n some fashion over all the
relevant existing public bodies which contribute to making Ireland accept-
able to toursts

The last pomnt I wish to make concerns the social returns [ think that we
must reserve our judgement on the value of these social returns until
smmular exercises have been done for all public bodies Perhaps the social
return in the region of 11 per cent to 26 per cent 1s the norm which 1s
generally applicable throughout the public sector Indeed perhaps it 1s
much greater or less than the norm One just doesn’t know Thus before we
can draw conclusions 1n connection with the social worth of the mvest-
ment in Aer Lingus we must look at the social returns from the activities
of other public bodies I cannot help noticing that a very large proportion
of the social benefits are directly or indirectly attributable to the labour
content involved It seems to me that there may well be a strong correla-
tion between the amount of people employed in a publhic body and the
social benefits derived from that public body This is something which is
very heartening to those of us in C T E which employes over 19,000 people

Mr O’Neill, jomed with the previous speakers in congratulating Dr
O’Donoghue on his very clear exposition of the cost/benefit analysis He
suggested, however, that until a similar analysis had been done of the
various other items in the Public Capital Programme, 1t would be impossible
to know precisely value of the social rate of return calculated for the air-
lines He said that the Department of Finance was at present carrymg out
an appraisal of the Public Capital Programme Because of constraints of
time and staff, they might not be able to do as sophisticated an exercise as
the Fconomusts Advisory Group had done for the airlines, but they hoped
eventually to set up standard criteria which could be applied to all major
proposals for capital expenditure by semi-State bodies and Government
Departments

He expressed surprise at learning that the net additional benefit to
tourism from the activities of Aer Lingus was, at best, not more than 10
per cent of the net product of the company This suggested that tourist
benefit should not loom large in their calculations He enquired whether,
if the Irish Auarlines are accepted as having generated additional tourist
business 1n excess of that which would have been induced by external
arlines, the social rate of return should not have taken into account the
capital mnvestment needed to provide additional facilities for these extra
tourists
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Dr O’ Donoghue 1 agree with Dr Whelan that the treatment of the
three 1tems to which he refers 1s open to objection, and mdeed I attempted
to point out the reasons for the particular course of action selected in the
paper In the case of the assumption concerning the alternative form of
airline provision [ agree that the 100 per cent 1s unrealistic But 1t 1s much
more difficult to decide what the realistic level would be, and to arrive at
such realistic levels 1t would be necessary to analyse the Aer Lingus routes
in detail, to make scientific assumptions and therefore to have some
knowledge about, both other airlines and other forms of alternative trans-
port Such an extended analysis was not possible 1n the available time

The second 1tem, the treatment of tourist benefits raises similar problems
I can simply repeat that the allocation of half of the apparent benefits was
an arbitrary assumption, since there was no way of estimating from the
available data, the relative mfluence of each of the groups which could
affect the volume of tourist activity Since tourism was not a major item
in the Aer Lingus case 1t was not worth while pursuing this item at the
time Given the importance of tourism to the economy as a whole 1t would
be useful to have a separate analysis of this question

The third item concerns the mterpretation, if any, which can be given
to social rates of return I agree that social rates will exceed private rates
m Insh circumstances because of the continuing unemployment which
exists here, but T would add that the social value of different categories of
employment will vary depending on whether or not there are alternative
employment opportunities available for the particular occupational group
At present for example, there appears to be full employment for many
skilled categories, hence there would be no excess social return for these
groups, whereas firms providing employment for those who would other-
wise remain unemployed are providing such a social return Mr O’Neill’s
query concerning the investment 1n tourist facilities could be answered 1n
a simular manner In calculating the “value” of a tourist to the economy 1t
18 necessary to decide whether the resources used to provide tourist services
had alternative uses If they had then the value of this alternative use
should be deducted from their value in the tourist sector, mn order to
obtain the net contribution mmvolved This applied to all resources not
only to capital






